Chemistry- Percent Yields

Directions:  Solve the following problems.  Answer in sig figs.

1.  Use the following reactions: 2 C6H6 + 15 O2 (12  CO2 + 6 H2O.  Let’s assume we burn 7.80 grams of C6H6, but in the lab we only collect 3.00 grams of CO2 gas.  What is the percent yield of CO2?
2. Use the following equation: C2H4 +  Cl2 ( C2H4Cl2.  What is the percent yield when 140.0 grams of Ethylene gas (C2H4) reacts with chlorine to form 280.0 grams of C2H4Cl2?

3. A process to produce aluminum and water from aluminum oxide and hydrogen has an 85.0% yield. How much aluminum will be produced from a reacting 7.0 g of aluminum oxide to produce Al? 

4. Zinc sulfide and oxygen react to form zinc oxide and sulfur dioxide.  If the typical yield is 86.78%, how much sulfur dioxide should be expected if 4.80 g of zinc sulfide are used?

5. Arsenic (III) oxide and carbon react to form carbon dioxide and pure arsenic. If 8.87g of arsenic (III) oxide and 25.0 g of carbon are used in the reaction and 5.33 g of arsenic is produced, what is the percent yield?
